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Anaya and Crump (now Anaya and Anaya) [1] have proved that

koo -
[aFnaké]—Fn"k b= k=1,
where a =1(@1 +\/§) and [x] denotes the greatest integer =x. They remark that it seems
reasonable that

k
[a Ln+§] =L g

when n is somewhat greater than k.
We shall show that

) [akLn +4]1=1L

Moreover, for k =1,
1 = =
(2) [aLn +3] Lo = 4).

To prove (1), it suffices to show that

3 ‘akLn—Ln,{_k|<12 b= k+2 k= 2,
that is,
@ [ -9 <1 a=k+2 k= 9,
where we have used

L =a +b, b =4@ - 5).

Clearly (4) is satisfied if
2@ +a¥) <3 @=k+2 k= 2.

Thus it is enough to show that

252 L Ky <1 k= 9

that is,
5) a a2 <1 k= 9.

Since

a'2+a‘6=3—‘2“[§-9_4d§=§(21—9\f§)<%,
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